Input-Output analysis

and modelling with MARIO

Hands-on 4 - The Supply and Use Framework

Please, be aware that all the supporting materials required for this hands-on session is
available on Zenodo at the following link: https://doi.org/10.5281/zen0d0.8308515
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Learning outcomes

By the end of this exercise, you will learn how to:

1) Understand the significance of matrices in the supply and use framework.
2) Apply the Industry Based Technology Assumption model.
3) Apply the Product Based Technology Assumption model.

Important requirement

It is suggested to compute calculation for this exercise using just pen and paper as shown in
the solution. Then, you can use Excel to double check and get more familiar with linear
algebra and Excel.
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How to deal with multi-products?

The following supply and use system (measured in economic flows) is provided.
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As you can notice the system is balanced.

1) Compute the matrix of technical and environmental coefficients.
2) Compute the market share matrix assuming an industry-based technology

assumption.
3) Now compute the same assuming a product-based technology assumption.

SOLUTION

1) Compute the matrix of technical and environmental coefficients.
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2) Compute the market share matrix assuming an industry-based technology
assumption.
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3) Now compute the same assuming a product-based technology assumption.
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